RED och-
R >
<

SPARE TIRE CARRIER
TAILGATE BRACKET

(1997-2006 WRANGLER TJ)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED
(1) Tire Carrier 1/2” Socket

(1) “L” Bracket 19mm Socket

(3) M10 Allen Bolts 17mm Wrench

(3) M10 Flat Washers 6mm Allen Socket
(3) M10 Lock Washers Socket Wrench

(3) M10 Lock Nuts Exterior Detailer
(3) 19mm Lug Nuts

SKU # J141593



"
REDROCK=
X

STEP1

Remove spare tire from original tire carrier, then remove the (5) 1/2” bolts from the tailgate.

STEP 2

Clean the tailgate of any dirt and debris using exterior detailer.




"
REDROCK=
X

STEP 3

Using (3) provided M10 allen bolts, lock washers, flat washers, and lock nuts, install the “L” Bracket
onto the tire carrier using a 6mm Allen Socket and a 17mm wrench.

STEP 4

Reusing (5) original 1/2” bolts, reinstall the tire carrier assembly onto the tailgate.



"
REDROCK=
X

STEP S

Using the (3) provided lug nuts, secure the wheel to the tire carrier. Torque to 100ft/lbs.

Installation is now complete.




	Instruction_Template_RedRock-01
	Instruction_Template_RedRock-02
	Instruction_Template_RedRock-03
	Instruction_Template_RedRock-04

